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You must answer on the question paper.

== No additional materials are needed.

INSTRUCTIONS

o  Answer all questions. B

e Use ablack or dark blue pen. You may use an HB pencil for any diagrams or graphs.

e Write your name, centre number and candidate number in the boxes at the top of the page.
¢ Write your answer to each question in the space provided.

e Do not use-an erasable pen or correction fluid.

e Do not write on any bar codes.

e Yol may use 4 calculator.

e International accounting terms and formats should be used as appropriate.

e You should show your workings. '

INFORMATION

e The total mark for this paper is 100.

e  The number of marks for each question or part question is shown in brackets [ ].

e Where you are asked to complete a layout, you may not need all the lines for your answer.

This document has 20 pages. Blank pages are indicated.

DC (RCL (GO)) 186087/2
[Turn over

L | _



* 0011657161102 *

AR AR -

Amara maintains a petty cash book using the imprest system. The imprest: amount of $200 is
restored on the first' day of each month. On 1 January 2020 Amara had a balance of $65 in her
petty cash.

e

Alf payments-of less than $100 are made from petty cash.
On 1 January 2020, Amara-owed $85 to Razvan, a credit supplier.

Amara provided the following information for January 2020.

‘ January 1 Thée petty ¢ash imprest was restored from the business bank account.
3 _F:urchallsed stationery for cash,.$24.
7 IF:aid tr;avelling expenses, $49
+ 14 Paid Razvén the amount outstanding on his account
s 19 Purchased goods on credit from Razvan, $200 less 10% trade discount
22 Paid taxi fare, $18
; 28 $li&:ﬁ,::(’;ur'ned goods to Razvan which had. been purchased on 19 January, list price
29 Paid postage, $11
REQUIRED

(a) Prepare Amara’s petty cash book for the month of January 2020, on.the page opposite.

Balance the petty cash book and bring down the balance on 1 February 2020.
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Amara’s supplier, Razvan, maintains a full set of accounting records.

REQUIRED
(b) Prepare the account of Amara as it would appear in the ledger of Razvan.
Balance the account and bring down the balance on 1 February 2020.

 Razvan
Amara account

Date Details $ Date - Details $

......................................................................

CLCTI TR TR Ty

..............

.....................................

S S P S URIVVVPTUUIAII, [P

(6]
On 2 February 2020 Amara paid the balance-due to Razvan. She deducted cash discount of 2%.

REQUIRED

(c) Complete the following table by placing a tick (v') in the correct column to show how Razvan
‘should record the cash discount. Where an account has no entry, tick ‘no entry’.

‘ debit credit no eniry
Amara account « . v
Discount allowed account Ve ' o
Discount received account | . "

(2]
Amara usually pays Razvan by cash or cheque.

REQUIRED:

(d) State two other metheds which Amara could use to pay Razvan from her bank account.

1 QMWMJ' .............................................................................................................
2 s M M@H ........................................................................................................ [2]

[Total: 20]
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2  GHB Limited maintains a full set of accounting records and prepares monthly control accounts.

(=2}

The following information was provided for November 2019.

$
Purchases ledger control account balance at 1 November ?
Totals for November:
Purchases journal 14200
Purchases returns journal 1160
Cash purchases 5390
Commission receivable : 2110
9 Cash discount received 650
o Cash discount allowed 710
o Cheques paid to trade payables 11420 ,
. >Sales ledger contras 250 , Yot
" Interest charged by trade payables 95 Laian ¥
Cheque refunds from trade payables 330
Purchases ledger control account balance at 30 November 13195

REQUIRED
(a) Prepare the purchases ledger control account for GHB Limited for Novernber 2019.

Balance the account on 30 November 2019 and bring down the baiance on 1 December

2019.

_ GHB Limited

Purchases ledger controlaccount
Date Details | $ Date Details $
s |l B & rrersensiomnn Aeo | - M/@ﬁ ..... ﬁfé {4‘5&‘3&
........... S T o, KM - | 5240.
................. Drode | 20 | v bossionbd. | 2410
— W tharged ] 8 | e it 2i8c2dnd bbu....

.....................................................................

---------------------------------------------------------

---------------------------------------------------------

....................................................................

&
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A delivery vehicle:was purchased by cheque during:November 2019.
REQUIRED

(b) State two reasons why the purchase of the delivery vehicle was not recorded in the purchases
ledger control account.
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The directors of GHB Limited are planning to finance a major expansion of the fleet of delivery
vehicles. $250000 will be required for this expansion. The directors are considering whether {o
issue additional ordinary shares or to obtain a long-term bank loan.

REQUIRED

(d) Advise the directors which of these two methods of finance is more appropriate.

Justify your answer with one advantage and one disadvantage of each option.
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3 Tia and Sarna are partners in a trading business.

L

Their trial balance at 31 December 2019 was as follows:

Tia and Sarna:
Trial Balance at 31 December 2019

Revenue
Inventory at 1 January 2019
Purchases
Discount allowed
Discount received
Carriage outwards
Insurance
General expenses
Wages
Trade receivables
Trade payables
Bank
Premises at cost
Furniture at cost
Provision far depreciation on furniture
Capital accounts

Tia

Sarna
Current accounts

Tia

Sarna
Drawings

Tia

Sama

Additional information =~ " -"

1

2

Inventory at 31 December 2019 was valued at $5165.

debit
$

5390
55440
2400

6160
7920
8100
9600
11590

8136
90000
24000

15000
17000

260736

credit

$
124000

1385

6051

5600

80000
40000

2100
1600

260736

L

Depreciation on furniture is to be charged at 20% per annum using the straight-line method.

The insurance includes a payment of $2160 for the 12 months from 1 July 2019 to 30 June

2020.

The parinership agreement provides for

interest on capital of 5% per annum
a salary to Tia of $6000 per annum

residual profits and losses to be shared equally

@ 0452/22/FIMI20
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'REQUIRED.
(a) Prepare the income statement for Tia and Sarna for the year ended 31 December 2019.

Tia and Sarna
‘Income Statement for the year ended 31 December 2019

4359

8]
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(b) Prepare the appropriation account for Tia and Sarna for the year ended 31 December 2019.

Tia and Sarna
Appropriation Account for the year ended 31 December 2019

............................................................................

............................................................................

............................................................................

................

................

................

................

----------------

----------------

----------------

365§o

i 26890

[4]

(c) Prepare the current account for Sarna for the year ended 31 December 2019. Balance the

account and bring down the balance on 1 January 2020.

Tia and Sama
Sarna current account
Date &P‘g;gl[s [ e$0 o | Date Detaits $
...................................... /H& 000, | . 40008
................ M om Lohibd i | Aoon. | o
M ¢ 490
40 0d 1] 40 00 -
I %‘ﬁ 0452/22/F/Mi20
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Tia and Sarna are considering transferring $7000 from the business bank-account to-an:interest-
bearing deposit account

REQUIRED

(d) Advise the partners whether or not they should make this transfer. Justify' your answer by
providing advaniages and disadvantages.

[Total: 20]
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4 ‘Arjun.is:a sole trader.

Arjun prepared a trial balance on 31 January 2020. The totals of the debit and cred[t sides differed.
This difference was placed in a suspense account. :

. Arjun.later disGovered the following errors. L

1 The total of the discount received column in the cash book for Janﬁary, $135, had been
credited to the commission receivable-account. :

2 $200 received from.the sale of fittings. (net book value. $150) had-been correctly debited but
had been credited to the fixtures and fittings account

? Y

3 Cash drawings, $40, had been correctly debited but had been credlted to the purchases
account.”

4  The total of the analysis column for cleaning in the petty cash book, $73, had been transferred
to both the cleaning account and the office expenses account.

5 The purchase of equipment, $575, had been credited to the equipment repairs-account. The
bank account had been correctly credited.

6 No entries.had.been made for a-cheque.payment for office expenses; $90.

7  Acheque, $69, paid.to Simone had been posted to the account of Simon.

oF
PR AR
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‘REQUIRED
(a) Prepare journal entries to correct errors 1, 2 and 3.

Narratives are required.

Arjun
Jéurnal

Error Details Debit Credit
number $ - $

PTCTTIS IO T T T T T PP P P T PP TP T TR ST P PY P TP LR PTY PP TP PTTT VI (T PY T TR IT T PY PP POT P SRRD PP

o]
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{b) Prepare the suspense account. Include the original difference on the trial balance, as a
balancing figure.

Arjun
Suspense account

Date Details $ Date Details $

e | S0l Jbian | B00 | Qsous. cucindd | 1 20...
............... SR S B '@“‘”w’% m

....................................................................... L &%) e

....................................................

---------------------------------

.......................................................................

'
.....................................................

[4]

(¢} Complete the following table by placing a tick (v') in the correct column to indicate how each
of the errors would affect Arjun's capital.

The first one has been completed as an example.

Ignore depreciation of non-current assets.

Error number Increases Decreases No effect
capital capital on capital
3 v ‘ ‘
4 Nt
5 v 7
7 ~

[4]
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(d) State three advantages to Arjun of operating as a sole.trader:

T T L L L LR L LT D T L TR LY
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[Total: 20]
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5 Adit provided the following information.

for the year to 31 January 2020 A
Profit for the year 27900
Revenue 186000
Credit purchases 93075

At 31 January 2020
Non-current assets at book value 43700
Inventory 9340
Trade receivables 14010
Trade payables 9435
Bank overdraft , 2240
Bank loan (repayable 2023) 6000

All goods are sold on credit terms.
REQUIRED

(a) Calculate the following ratios. Show your workings.

profit margin

answer

:‘> 3?‘

workings
Cott > (__1___‘ o/ ‘oo
2 27900 ' 50/0
ﬁ—g;—o‘° @ 100
trade payables turnover (days)
workings answer
(round up to nearest
whole day)
T.AT 5 Bu w%
g 2016 ¥ 365 37

% 0462/22/FIMI20 .

e 7D




I

* 0011657161119 *

AR AR

| -

trade receivables turnover (days)

workings

answer

(round up to nearest
whole day)

TRT o Tpade rccivabdy
W e Xgﬂé

7 7—-{;'%28 <365

'-’> 2 7‘6“10[

2$£%

liquid ratio

workings

answer

LeR D Cfg-l."(fh?M-W
cr - B.o

Q435 ~ 6000
£> 0,30

<) V010 § 6D2007%p « e — 4220

0. 70 21

The bank overdraft limit is $2500.

The trade payables turnover for the year to 31 January 2013 was 35 days.
REQUIRED

{8

{b) Advise Adit whether or not he should delay paying trade payables in order to reduce the bank
overdraft. Justify your answer by considering the effect on both the bank balance and the trade

payables.

...................................................................................................................................................

......................................................

...................................................................................................................................................
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(c) Suggest three other actions which Adit could take to reduce the bank overdraft.

o Toss.. Mok Fora..... Dottt e

T g-wmg M W ACBLINL e rereenrinr vt sssnneeee
,ﬁy x/:..fz..dz&.& MW" TR | B
: t
(d} (i) State two reasons why Adit should produce ?'n annual income statement. 'E
........................................................................................................................................ ;
|

(i} State two reasons why Adit should apply the money measurement principle.

................................

A
&
?‘

.......................................

................................................................................................... ceereraneeererenesnesessnenesness |2)
[Total: 20]
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